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* The per head value obtained on equal distribution is called as

Average.
Sumof all values
\Average = f

number of values
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P, Q, R and S, are four friends. If P, Q and R
have X365, 3465 and X475 respectively, how
much should S has so that the average money
with them is[400?)x 4 = 60D

@Q '('g)_g |600 PQ,RS TR ERd & 3R PQR & U
gmr: 3655, 435;'; 475% 3@&? s

g fRaa St Ca)

#3,00—= 1505 itaa 400 2

S 295 a) 505 b) 294 %)5 d) 296




The ages of the eldest_four ers of a[6
member|family are 55,45,32 and 28 years. If
the average age of all members of the family is

Grn—-> |80 =6%30 years, what is the average age of the
youngest two members of the family?

Um —_| §0O 6 WSE & TF qRax # §ed &2 4
Al #T HY 55,45,32, T 28 ¥ IR

QA — A0 |9 @l 6 wawdl & sitaa 30 af ¥ o wad
oY B Al FeEdl A i WY AT Y
a) 9 JA10 c) 11 d) 40




The average weight of L, M and N is 93 kg. If
the aver?/ge weight of L and M be 89 kg and
that of M and N be 96.5 kg, then the weight
(inkg)ofMis__ — ~ XQ‘

L, M aaTNa:raﬁa?raa?r%ﬁwn gl
gfy L 3k M &1 3itwa a9 89 A
3R M dur N F1 3taa a9 96.5 TR
A M FT g fram. g

A792 b) 86 101 d)95




The average weight of A;+B and C is 95 kg. If

2
the average weight os 61.5 kg, and

B+(,‘|"£+C 2% >,'?60 the average weight os 68.5 kg, then
- Cﬁ *’6*" ) 157 195 the weight of C (in kg) is: 6‘0-1-? 5

— A, B X ¢ &7 3it9a goieT 65 FFeaamT §

6S  afx ¢ 3k B 1 JtwT aoT 61.5 RreaE
g, 3k A 3k c #1 3wa a7 68.5
freltamer &, @Y ¢ (fFeaameT &) &1 a0 &:
65  b)60 )68  d)67
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Out of three numbers the first is twice the
second and is half of the third. If the average
of three numbers is he average of first
and third numbers is:

T gEamat &, wuer wew, Red gean
AN qUT g wEAr @ e g
IRy fiq wEa + stEd 56 @, ar vuA

qarT W& & Awa AT F?
@ b) 80 c) 24 d) 48




e X Y%

5 60
=95 x>

=1

Of three numbers, the first is 4 times the
second and 3 times the third. If the average
of all the three numbers i hat is the
third number?

der weEt A, gyw wewn, fe
TEIT i ORI § 9T AT qE&;T A
der Tt B aﬁ de = #r stwa 95
&, a g AT HFI?

a) 76 60 c)130 d) 57
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The average of five positive numbers if
i i it of

the first number is three-fourth of the

the last four numbers, then the average of
the last four numbers is:

9 HdATcHS &I &1 3iEd 56 @
Ify ggell wEwn, Ifaw IR wEanEr &
ey #Y de-atag g, @Y dfaw 9w
HEITHT &7 EIGEIIER

a) 50 40 c) 30 d) 35




The average monthly expenditure of a family

Inc. = Exp. +Sav. 2was Rs. 18,600 during the first three months,
ﬁ’@z& during the next four months and

,(Rs 22,840 during the last five months of a

year. If the total savings during the years was

55800 Rs. 1,43,020, then the average monthly
BT7T6000 income (in Rs.) of the family was:
114200 At F cher, fFdY oRar &
dtaa A1fe @Y 18,600 . AUT, 3o
+113020 IR AT & R 21,750 %, 3R I F
1400020 TR g #7AT F SReT 22,840 5. |
— =322, afe a\‘r & e & T9d 1,43,020 .
12 oft, @ oRER A g RS 3T (5.
) frast ofi?
33,335 b) 34,115
c) 35,333 d) 32,225
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lJx+ M0=22%
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The average of the two-digit numbers

‘__:3‘1 @ 5x and 44) is 57 What is the
erage of (x + 5) and (ZX 9)?

aY 3l qrell FEATAT 41, x5, 5x 3R
FT Ataa 57 g (x+5)3ﬁT(2x 9) &1
ga AT #:I?

451/10 b) 13 c)9 d) 11

13 +77

9




[Jla+ 161 = 2055

T -y
= 335
205
235
6 39
o6

If the average of the 3-digit numbers
335,2x5,x35,63x and 406 is(411) then
what W|II be the average of x-1,x-3,x +
3andx + 5?

3 3w arelY et
335,2x5,x35,63x 3T 406 1 3itwa
411 &, ar x- 1x,3’x+,z/3ﬁ¢ x+5 &l

Ad w7

e
a) 6 b) 3 \;/5 d) 4
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The number of students in a class is){ out of

whichre boys and the rest are girls.

. . 2
The average score of girls in science is 665%

more than that of boys. If the average score of

all the students is_78, then the average score
ofgirlsis: X3 ’

TFH HET A ﬁaaﬁ'q’r N FEAT 45 T,
Rredf & 33;% @& § 3k v wsfra
I R F el & sted i

a=& & taa ucaF F 662 %mau

aﬁmﬂﬁa'qﬁ’zi-q’ra;aﬁwrmn%
ar wr=frat & sitaa fFder 87
a) 78 b) 54 290 d) 65
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Q6a+30¢=25,%=5{a_

The total number of students in class A and B
is }( The number of students in A is 30%
more than that in B. The average weight (in
kg) of students in B is 50% more than that of
students in A. If the average weight of all the
students in A and B i then what is the
average weight (in kg) of students in B?
F&T A 3 B H Fear BTl Hi FE&AT 92
¥ F&T A STET #Y HEAT, F&T B A oTEl
Y FEAT Y JoIaT A 30% HOF §| Faw
B & oMl & 3ud aoieT (kg ), H&T A
# oEl & tud a9d ¥ 50% FWF 2
Ife wam A 3R B & Tt o=t & twa
g 56 kg &, dY H&7 B H oMl &1 ¥
aotel (kg &) frae %’?/
69

a) 46 b) 40 d) 52
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The average age of 125 students in a group is 16.2
years. 40% of the students are boys and the rest
are girls. The average age of the boys is 20% more
than the average age of the girls. What is the
average age (in years) of the boy?

T # 125 Remfat & stwa 3y
16.2 & 40% ﬁwaﬁm%aﬁtehagﬁm
¥ W= Y sitwa Iy, asfRaEt & stwa I
ﬁzo%m%mﬁaﬁaﬁwm(ﬁﬁ)

AT
a) 17 % 18 c)18.5 d)17.5




: The average of X, y and z is 6 more than z.
(Z—""S The average of x and y, is 50, If u is 6 less
than z, then what is the avaZé ofuandz?

"l—!—g-rz-; 27 +18 x,y 3IR z &1 3twa z & 6 3fAF B
L xR ywr 3taa 50 81 I u, z ¥ 6
[JoYe) FH g, a v 3z F71 AT AT W

82 =2 a)a3 38 c) 40 d) 39

32
Y=z z
C’\H%S < il
=) % - %&ﬂ@




C*Of three numbers a, b and c is

2 more than c. The average of!a and b i
.a"'bﬂ'c = 3(+6 If d is 10 less than c, then the avera
96 candd is:
go=2¢C a, b, 3R ¢ T FEIE FT AT ¢ @
- d 2 38+ 8] a 3 b &7 3T 48 B
4o U5 I dcq 10 FA §, @Y ¢ 3R d @
B2 e, = d staa 7 Hifv
X a) 36 /40 )38  d) 35




The average weight of Sohum and his five
friends is‘48. 5 kg.]lf Sohum is 3 kg more than
the average weight of his five friends, what is
Sohum’s weight (in kg)?

WeA AR 3TF gT QEal &1 JtEd aod
48.5 kg 1 I WEH &1 T, 39S 9T
AFar & 3Wud I ¥ 3 kg I0F T,
WEH & ToieT (kg H) AT HY

/51.0 b) 50.0

c) 50.5 d) 51.5
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The average age of@khil and_Sunita i

. —_\ J
years, of Sunita and Veena i{ 37 years, and
that of Veena and Akhil i years. The age
of Veena is:

¥ Ak e ik 3R & sitEa s

33 a¥ g1 I #iT I AT T
13 years b) 49 years

c) 53 years d) 17 years
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A retailer opens her outlet on all seven days of the
week. It is observed that her average sales for
Saturdays and Sundaysjcombined is %00, and
for the remaining five days,combined. For a mon

starting on a Saturday, it was found that the total

sales were X7,000. Which among the following
months it could be?

TF el fashar acare & @it @y e sraen
WM3cde @adr §1 Tg @ T ¥ R afeaR
%@ﬁmmﬁaﬁaﬁﬁaﬁisootaﬁ?




12 3 <7

(@123 g7 @-19)3
4T 6 7
4

%2\-39-%87‘1' 2a-%0 =7/a

\Q:87"6q =L

There are seven numbers. The average of the
first three numbers is 13 less than the
average of all the numbers and 3 less than
the average of last three numbers. If the
fourth number is 87, find the average of all
seven numbers?

7 WEATET A ¥ Ugel 3 WEAT & A
it gEaEt & twa & 13 T anfad 3
JEaEl & T @ 3 w9 g 3R aled
FEAr 87 § at Wt widl wewdl &
staa T FY

a)13  i18 c) 10

d) 87 e) can’t be determined




Using central value to calculate average:




Find the average of numbers following numbers:

M T aeant @ ositea A e

/"‘) J02 -
2030, 1950, 2040, 2200, 1890

115, 98, 104, 83, 107, 101

20 X ys A e oy
180, 197, 215, 207, 216, 183
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